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Introduction
HS-SCCH performance requirements without transmit diversity were agreed in RAN4#27 [1]. HS-SCCH performance requirements with transmit diversity have been discussed in the HSDPA UE Ad-hoc reflector, and simulation assumptions for these assessments were proposed in [2].

In this paper, we show our initial simulation results on the HS-SCCH performance assessment with transmit diversity.     
2 Simulation Results

Simulation results are based on the assumptions proposed in the HSDPA UE Ad-hoc reflector [2]. In the simulations, we evaluated HS-SCCH performance with only open-loop transmit diversity (OL-TD), because RAN#20 agreed in principle that only OL-TD is applicable to the HS-SCCH.
In Appendix A, we show HS-SCCH PER curves. The required HS-SCCH 
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 for the target PER are presented in the Table 1. Moreover, the gain of OLTD compared with single antenna case is also shown in Table 1. 
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	HS-SCCH1 Ec/Ior (dB)
	-16.1
	-17.2
	-14.6

	Gain of OLTD (dB)
	4.5
	5.1
	1.8


Table 1 HS-SCCH Ec/Ior for the target PER and Gain of OLTD
4. Conclusions

We present the results to derive the performance requirements on the HS-SCCH performance assessment with transmit diversity. 
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Figure 1 HS-SCCH PER curve
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